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Q.1 Anjali Construction Ltd. undertook a contract, fo construct a building at a price of
Rs.7, 00,000. The contractee has to make progress payment of 90% of the WC and the
remaining amount is to be on completion of the contract,

The coniract was commenced on 1-3-21 and the tollowing information is svailable in

respect of contract for the year ending on 31-12-21. 18]

Worlc in Progress Ade (31-12-21)

<

Work Certified 2. 10,000
Cost of uncertified work 14,600
Materials unused at site 4,200
Plant at site (Depreciated value) 11,200

2, 39,400
Less: Profit reserved for the year 2021 - 6,000

2; 33,400
Amount received from the contractee up to 31:12-21 1, 89,000
Wages due but not paid on 31-12-21 1,400

The following information is supplied in respect of contract for the year ended on 31-

i2-22:
z,

Material supplied 1, 19,600
Wages paid 70,000
Piant issued on 1-07-22 7,000
Other Expenses 6,300
Overhead chargeable to Conrract 14,000
Material returned to stores 1,540
Material stolen away from the stores (at cost) 2,100
Work certified on 31-12-22 4, 90,000
Cost of uncertified work on 31-12-22 17,500
Materials unused at site on 31-12.22 7,000
Wages not paid on 31-12-22 3,506

Provide depteciation on plant at 20%

Prepare contract Account for the year 2022 assuming that the contractor takes 2/

p.a. by diminishing balance method.

~1d
3

profit on cash basis to profit and loss A/c. Show Work in Progress A/c in the balance

sheet as on 31-12-22.

(.1 a) Explain Work Certified, Work un
illustration.

OR
ceriified and Work in Process Account with
{12}

) Cp.1.03




Q.2

Q.2

b) Write on Escalation clause, fo6}

Patel Transport Company Supplies the Following details in respect of a truck of 15-

ton capacity: [17]
Cost of truck ¥.9, 00,000
Estimated life 10 years

Scrap Value 5%

Oil, grease (Per Trip cach way) <. 100

Repairs and Maintenance T. 5,000 Per Month
Driver’s wage 3. 9,000 Per Month
Cleaner’s wages T. 5,000 Per Month
Insurance 3. 18,000 Per year
Tax T. 9,000 Per year
Diesel T. 90 Per litre
Average Per litre Diesel 16 K.M

General Super Vision Charges 2. 72,000 Per year

The Truck Carries goods to and from the City Covering a distance of 80 Kilo Meters
each way once in a day. On outward trip freight is availed to the extent of full
Capacity and on return 40% of Capacity

The Truck runs on an average 25 days a Month Work out:

(1) Operating Cost per ton Kilo Meter |

(2) Rate per ton per trip that the Company Should Charge if 50% profit on cost is to

be charged.

OR
From the following data relating to a one vehicle, compute cost per running kilometer.
[17]

Particulars 2.
Cost of vehicle 11,20,000
Road License fee {(Annual) 7,200
Insurance Premium (Annual) 12,000k
Garage rent (Monthly) : 2,400
Supervision expenses (annual) 2,00,000
Drrivers road allowance (per hour) 20
Drivers Salary (Per Month) 10,000
Cost of petrol (Per litre) 90
Cost of Oil (per litre) (Vehicle consumes 3iitre oil for per month) 200
Repairs and maintenance (Per K.M.) 1.5
Tyre expenses (Per K.M.) i

2



Estimate life of vehicle K.M, 4,00,000
Use of vehicle {(Annual) K. M. 1,00,000
Average running (for litre petrol) 20 kM.
The vehicle runs 40 K.M. per hour on an average. o

Q.3  Raj Chemical Co. ltd produced three types of chemical during the month of
February,2023 by three consecutive process, the particulars of which are as under:[18]

Particular A B C
Raw Material consumed (Tonnes) 2,800 320 2,520
Rate per tonne - 100 160 _ 70
Wages 1,03,046 62,860 74,160 |
Selling and Distribution Expenses 10,000 20,000 30,000
Transfer to next process 60a2/3% 60% | e
Transfer to Warchouse 33.1/3% 40% 100%
Loss in weight of the total quantity introduced 4% 4% 4%
Scrape of the total quantity introduced 6% 6% 6%
Sales of scrape per tonne 30 50 60
Selling Price of Finished Goods 200 250 180

From the above particular prepare all the three accounts and finished goods accounts
showing cost per tonne of each product.

OR
Q.3  Write Notes on the following: [18]
I. Normal Loss and Wastage
2. Abnormal Loss and Gain
3. Joint product and By-product

Q.4 What are the advantages and disadvantages of uniform costing? Which are the

requisitions of installing uniform costing? (17

OR

Q.4  What is marginal cost and marginal costing? Explain the features and objectives of

marginal costing, f17]

(%
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